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Section B	
							
Q: 2 Attempt any eight parts. All parts carry equal marks.		(8x3=24)
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(ix). Define Statistic and parameter
(x). Average weight of 10 students is 60 kg and average weight of 15 students is 64 kg. Find average weight of all 25 students.
(xi). Find index number from the following data by taking 1972 as base year.
	Year
	1970
	1971
	1972
	1973
	1974

	Prices
	9
	6
	8
	11
	10





Section C						

Note: Attempt any two questions from Section C.			(8x2=16)
Q3. Calculate arithmetic mean of the following by:
a. Direct method
b. Indirect method
c. Step-deviation method
	Class limits
	30-39
	40 – 49
	50 – 59
	60 – 69
	70 – 79
	80 – 89
	90-99

	f
	1
	3
	11
	21
	43
	32
	9



Q4. From the following data, find index number for 2000 on the basis of 1990 using:
a. Base year weighted method
b. Current year weighted method
c. Fisher’s ideal index
	Items
	1990
	2000

	
	Price
	Quantity
	Price
	Quantity

	A
	2
	10
	4
	8

	B
	4
	5
	5
	6

	C
	5
	8
	6
	10

	D
	3
	20
	3
	25



Q5. Compare budgets of two families by sub-divided rectangular bar chart.
	Items
	Budgets of

	
	Family A
	Family B

	Food
	240
	350

	Clothing
	120
	130

	House Rent
	140
	200

	Fuel
	80
	100

	Education
	100
	120

	Misc.
	120
	[bookmark: _GoBack]100



Q6. 
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Q: 1 Choose the correct answer.							(1x10=10)
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(ix)       A small representative part of population is called
A.        Primary data				        B. 	Secondary data
C.        Sample					        D. 	Parameter
(x)       If all the values are not of equal importance, then it is called ________ index number
A.        Simple					        B. 	Composite
C.        Un weighted				        D. 	Weighted	
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Attempt any EIGHT parts. The answer to each part should not exceed 3 to 4 lines. (8x3=24)
Define Descriptive and Inferential Statistics.
Define Histogram, Historigram and Tabulation.
Represent the following data by pie charts:

Districts |
Area

Lahore | Multan_| Rwp. | Gujrat
50 [115  [135 [ 165

In a moderately skewed distribution, the value of median is 42.8 and the value of Mode is 40. Find
Mean.

Define Price Relative and Link Relative.

Give w = 20, 25, 30, 40 and 1= 100, 105, 110, 120. Find weighted average of relative’s index number.
The deviation about X = 180 are 4, 11,- 8, -12, 7. 9, 16, 9, 13, 15. Calculate Arithmetic Mean
Describe the qualities of a good average.

If three coins are tossed, what is the probability of getting:

a. At least two heads b. Two tails.

Suppose P(A) = I’(B):% and P(AU B)=1 find P(AU B)

Given X =10+5U, %fU =308, X/ =7.Find AM
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Circle the correct option i.e. A/ B/ C/D. Each part carries one mark.
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(viii)

(ix)

A measure computed from sample data is

A Parameter B. Statistic

C Stalistics D. Data

Number of Farz in five prayers is an example of

A Discrete variable B. Constant

C Attribute D. None of these
A sector diagram is also called

A Bar diagram B Histogram

C. Pie diagram D Historigram

In arelative frequency distribution, the total of relative frequencies is equal to
A 100 B 1

C: pra D 0

For a certain distribution, if X(x —20) =25, ¥(x-25)=0 and ¥(x—35) =-25, then X

is equal to

A 20 B. 25

C. -35 D 35

The sum of deviation is zero, when deviations are taken from

A Median B Mean

C Mode D. Geometric Mean

If Laspayre's Index = 110, Paasche’s Index = 108, then Fisher Ideal Index is

A 110 B 109

C. 100 D. None of these

What is called a number that measures a relative change in a single variable with respect to a base?
A Good index number B Quantity index number
C. Simple index number D. Composite index number

Two coins are tossed. Probability of getting head on first coin is

A iy B 1

[o3 0 D. 4

Two events A and B are said to be mutually exclusive if

A AUB=¢ B. ANB=S

C ANB=¢ D. ANB=1




